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2 4+ +6C
Ex xr + Sx +6=0 -1 -6

v
(2 +2)(+3)70 e

Either x+72=0 orf x+3=0

X = —2 5 = —R
+(  +2g
2z -\ -—2_{,.
Fxz 2 —l|lx +24 =0 +2L 4
-2 —12
(% ~3X= -8) =0 +3  +€
—3 —gv
En'ﬁq- X _-3z0 or x — 8 =0
xX =3 X =&
- — + | -1
Ex X x +3x —18 =0 NP
<7(—3>(9< 4—6) - 0O +2 -9
-2 +9
Filee X-3-6 65 2¢tl=0 +3 -6
_ o
x =3 *x = -6
z [ -1z
Exq X —_=x —[2 Z O + e
()L ‘\'3)(3( /4_,) p— O + 2 -6

- 46
e, Xi43z0 6, K —4 =0 3 —a v

- +




Exe cite Colve

\

Z z _ x=~4%

2 2

_ . x*
z) X —S>xd4+a4 =20 10) x —9x + & ZO,:-¢

2 _ 7(:’7

D) " e —ig s0 [ 1) X Al =7 TOL
g _ <=4

4) xz —2x —8 = o0 n) x —3x —4¢ =0, __
— 2= =L

S’) 2 A Fe +7 o0 [13) oz +dxda =035

N

[ —_ 2=
é> x—z —7x +6 o |14) x —8x +12 ZOx=2

_,> ¢ + 7 —3 = 0 /S‘) X 410 =11 ZO 5=
se=85

N
o

8) 5 =T =10 lé) " —2x —(§ = Ox=-3

2 =--F3
T) 28 T % 4 =0 21) x4 lx #30 T0 T
2 =te
13) x=3 T —ldx 1370 zz} " =12 +20 TO0 %
zc-
2 R =-1¢
%=1 — = 3) + — Zo *°
14) X o AT —1470 T ¢TI =Z% =9 o

- ~ -

x="3

fkphj%ﬂbqs

( x+2)(x +Y) = o

E s o420 or 2c45=0 Ellr 5\ "0 o0/ x40
5« = - & Xz - § > = | x< -4




2
xl +So —l4 =0 4) x. —2Zx —8 =0

(>L —-?_)(xa-"z) =0 (X—H. )()c ——4») =0

Edler x-2 =0 or x+7=0 Ef, X4 50 6r x—4 =4
¢ =& > = -1 X T -2 X = 4
2 2
S') - t¥0 +77 =0 é) X —7%x 46 = 0O

(x +)(»x+2) =9

Etfh/ X 4+t =© or c4+1 =6

( -‘)(9‘ -6) =0

E€le x_-120 o/ x—(=0
x=-|

= —7 > T | ~ =6
._,> D(.? +72x —3 = 0 8) )(2 -9 =10 =0
(> -1 J(*x43) =0 (¢ 1 )5 - 16) =0
Bty o-1! 20 67 x43=0 Etw x4 =0 o7 x~ID=0
> <~ | =~ < -




